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27 [k R R 1 Ak [E SR BR AR A% R (B4 R IIH)
DB EERHER K750 — N (AR AR R %)

UHe) IZAEE (B6FE4A TR O FFTESA3IH £ T) 1243 (ET)
ToRAHOE, TBEZE TRTFE (FM6FE3H31IH) £ TICHARE (BT)

Lk%ﬂ@ﬁ%(@T)}

Li=ETh S,
(ZBrE 10 ALLE)
EEvE — %ﬁ — %ﬁi — E}Ei

zhws| o] aws |2en|omen| aks |2Re|owek| anx
FRZR) IR SE AR AR AL R 7 18 18] 100.0 17 17| 100.0 1 1| 100.0
NP TNES 18 18] 100.0 18 18] 100.0 0 0] 0.0
FERS R AL RS 15 15| 100.0 14 14| 100.0 1 1| 100.0
fEH RN KT 12 12| 100.0 12 12| 100.0 0 0l 0.0
B B BN R 11 11| 100.0 10 10| 100.0 1 1| 100.0
B E R AR AL R T 11 11| 100.0 11 11| 100.0 0 0| 0.0
KIER 10 10| 100.0 10 10| 100.0 0 0] 0.0
(L 1 BRST RS 10 10[ 100.0 9 9] 100.0 1 1| 100.0
BE) 227 K% 29 28[ 96.6 28 27| 96.4 1 1| 100.0
L SVAIN Y NES 22 21| 95.5 21 21| 100.0 1 0| 0.0
HERT: 22 21| 95.5 20 20 100.0 2 1| 50.0
e o] WA ST R 19 18] 94.7 17 17| 100.0 2 1| 50.0
U KT 17 16 94.1 16 16[ 100.0 1 0 0.0
e - NE S 15 14| 93.3 14 13| 92.9 1 1| 100.0
EBRY 15 14| 93.3 14 14| 100.0 1 0] 0.0
BRI UANT 77— K27 14 13 92.9 13 13| 100.0 1 0| 0.0
e o A K7 12 11 91.7 10 9] 90.0 2 2| 100.0
il Rt e R 12 11 91.7 10 10| 100.0 2 1l 50.0
SCHECOR 11 10l 90.9 8 7| 875 3 3| 100.0
PR PRI E AL - PR B R 18 16| 88.9 15 15| 100.0 3 1| 33.3
SEIERS 17 15[ 88.2 15 14| 93.3 2 1| 50.0
A VA @ fk oK 14 12| 85.7 13 12 92.3 1 0] 0.0
WO E K5 46 39 84.8 40 35| 87.5 6 4] 66.7
EEN YN 36 30[ 83.3 30 27 90.0 6 3] 50.0
Rl EFR R 12 10] 83.3 11 10|  90.9 1 0 0.0
SRR RS 23 19| 82.6 20 18] 90.0 3 1| 33.3
[ BRE SRR ALK 45 37| 82.2 39 37 94.9 6 0| 0.0
) = A ALK 7 39 321 82.1 32 31 96.9 7 1| 14.3
VE R 5 BE K7 11 9 81.8 9 9] 100.0 2 0| 0.0
e oy U MNNE = 11 9 81.8 9 8| 88.9 2 1l 50.0
PRSI 16 13| 81.3 12 11| 91.7 4 2| 50.0
[EpIRAPNES 16 13| 81.3 11 10 90.9 5 3] 60.0
EREb &S 16 13| 81.3 12 12| 100.0 4 1| 25.0
(iR e TUNES 21 17| 81.0 17 16| 94.1 4 1l 25.0
EBURT: 10 8| 80.0 7 7| 100.0 3 1| 33.3
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A e sk| awen| ok |2hen| onek| aks |2Rek| enen| onx
AR AR R T 54 43| 79.6 42 39| 92.9 12 4] 33.3
KR AL R 14 11] 78.6 11 11| 100.0 3 0| 0.0
JUMNPEZERF: 14 11] 78.6 10 10| 100.0 4 1 25.0
JR 5 SCEOR - 26 20 76.9 19 17| 89.5 7 3 42.9
BA VAR R 21 16] 76.2 17 15| 88.2 4 1 25.0
A FFTSLR 20 15| 75.0 16 15| 93.8 4 0| 0.0
A AR 0815 BE 105 78] 74.3 68 63| 92.6 37 15|  40.5
BN 19 14 73.7 16 13| 81.3 3 1| 33.3
Bh 2R 11 8| 72.7 7 6| 85.7 4 2| 50.0
BUER L R 21 15| 71.4 16 14| 87.5 5 1l 20.0
NN =N 14 10] 71.4 10 9] 90.0 4 1l 25.0
HASSCHOR - 14 10] 71.4 9 71 77.8 5 3| 60.0
A A S FERT 24 171 70.8 18 14| 77.8 6 3] 50.0
FLIR e R 17 12| 70.6 13 9] 69.2 4 3| 75.0
HER TR R 17 12| 70.6 10 10{ 100.0 7 2| 28.6
LUIVSEE ST NE 10 71 70.0 8 5| 62.5 2 2| 100.0
JEE IR 5 [EI RO 13 9| 69.2 9 71 77.8 4 2| 50.0
LR FE KT 22 15| 68.2 14 11] 78.6 8 4] 50.0
AU AERE P A 56 38| 67.9 44 32| 72.7 12 6| 50.0
R FIE G HE 63 42| 66.7 50 39[ 78.0 13 3| 23.1
L pNE 15 10[ 66.7 10 9] 90.0 5 1l 20.0
ALHEE R KT 12 8| 66.7 7 7| 100.0 1l 20.0
AT ERT 17 11| 64.7 13 8| 61.5 4 3] 75.0
LR 17 11 64.7 7 6] 85.7 10 5] 50.0
JUM SRR 14 9| 64.3 10 9] 90.0 4 0| 0.0
Ui eS| NE 2 11 7| 63.6 5 3] 60.0 4| 66.7
HER SRR R I E BB 52 33 63.5 36 29[ 80.6 16 4| 25.0
ARAS ] R 18 11] 61.1 13 9] 69.2 2| 40.0
WK 23 14| 60.9 19 13| 68.4 4 1l 25.0
HALRE AR IEAE B 43 26| 60.5 21 20[ 95.2 22 6] 27.3
FUNIV—T VB R 17 10] 58.8 10 8| 80.0 2| 28.6
B yNES 12 7| 58.3 3 2| 66.7 9 5| 55.6
HfE R 16 9 56.3 10 71 70.0 2| 33.3
T ROR 16 9| 56.3 8| 100.0 8 1| 125
B BOR PG HA R 16 9| 56.3 4 4] 100.0 12 5 41.7
P[5l A7 2 ] K 22 12| 54.5 15 11] 73.3 7 1l 143
e VNES 11 6| 54.5 8 4] 50.0 3 2| 66.7
PP EIRA R KT 13 7| 53.8 7 7| 100.0 6 0 0.0
JENTNE RS 17 9 52.9 10 8| 80.0 7 1l 14.3
[ IR 19 10[ 52.6 9 6| 66.7 10 4| 40.0
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A mipa| oma| e | 2wl oma| ans || owek| ars
VO R 22 7 e K 28 13| 46.4 22 13| 59.1 6 0| 0.0
R BRPR fep f1 BE P A5 24 11] 45.8 14 10| 71.4 10 1l 10.0
EEE S NE 2 20 9] 45.0 13 7| 53.8 7 2| 28.6
i B e R 20 9] 45.0 14 9] 64.3 6 0| 0.0
NGy NS 55 24  43.6 31 20 64.5 24 4| 16.7
FOREAER Tl E ZE R 71 30[ 42.3 25 16| 64.0 46 14| 30.4
e [E RO 10 40.0 4] 50.0 2 0] 0.0
T8 SCHER 10 40.0 4 75.0 6 1l 16.7
Y SR WNES 17 35.3 10 4] 40.0 7 2| 28.6
St e 57 19] 33.3 26 12|  46.2 31 7| 22.6
ey NE S 11 2| 18.2 9 2| 22.2 2 0| 0.0
e AEA K FRY 11 2| 18.2 5 2| 40.0 6 0] 0.0
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mhws| o] aws |2en|omen| aks |2Re|owex| anx
T R ST K 9 9| 100.0 9 9] 100.0 0 of 0.0
EF v 9 9] 100.0 8 8| 100.0 1 1| 100.0
BRI BE R 9 9| 100.0 8 8| 100.0 1 1| 100.0
(LIAL IR, K 8 8| 100.0 8 8| 100.0 0 0 0.0
ZERIRIE R T 7 7| 100.0 7 7| 100.0 0 0| 0.0
REL AR 7 7| 100.0 6 6| 100.0 1 1[ 100.0
P IR 7 7( 100.0 7 7| 100.0 0 0| 0.0
fi] L1 R N7 R 5 5 100.0 5 5| 100.0 0 0 0.0
FORFBR T 5 5[ 100.0 5 5| 100.0 0 of 0.0
FeJf K5 5 5| 100.0 4 4] 100.0 1 1[ 100.0
NN 4 4] 100.0 4 4] 100.0 0 0] 0.0
BV e K 4 4| 100.0 3 3| 100.0 1 1| 100.0
SRR NE R 4 4] 100.0 4 4] 100.0 0 0 0.0
S e X ¥ (T v P 4 4] 100.0 4 4] 100.0 0 0l 0.0
AR K 4 4] 100.0 4 4] 100.0 0 0] 0.0
iR ENE 3 3| 100.0 2 2| 100.0 1 1[ 100.0
KBKF: 1 1| 100.0 0 0 0.0 1 1| 100.0
PN TSRV NES 1 1] 100.0 0 o 0.0 1 1| 100.0
WSR2 7B K7 1 1| 100.0 0 0 0.0 1 1| 100.0
(R S EPNE 1 1| 100.0 0 0| 0.0 1 1| 100.0
B ARSI T 9 8| 88.9 8 8| 100.0 1 0| 0.0
KRELRF 7 6| 85.7 6 6| 100.0 1 of 0.0
UK F KT 6 5| 83.3 5 5| 100.0 1 0ol 0.0
N 20 R 6 5| 83.3 5 5| 100.0 1 of 0.0
JUMN B AR 5 4] 80.0 4 3] 75.0 1 1| 100.0
LR PSS 5 4] 80.0 3 3| 100.0 2 1l 50.0
SLATFBE R 9 7| 77.8 3 3| 100.0 6 4| 66.7
YN 8 6| 75.0 7 6| 85.7 1 of 0.0
bl 8 6| 75.0 5 4] 80.0 3 2| 66.7
RN RS 4 3l 75.0 4 3| 75.0 0 0| 0.0
AR e SN 4 3| 75.0 3 2| 66.7 1 1| 100.0
VA N 4 3 75.0 2 2| 100.0 2 1l 50.0
JR B E B R 9 6| 66.7 4 4] 100.0 5 2| 40.0
B AR 3 2| 66.7 2 2| 100.0 1 of 0.0
SR TR T 8 5| 62.5 7 5| 71.4 1 0| 0.0
AR GHE 2R 5 3 60.0 3 2| 66.7 2 1l 50.0
NS QISP 5 3| 60.0 4 3] 75.0 1 0| 0.0
ERRE EREL R 7 4] 57.1 4 4] 100.0 3 of 0.0
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e sk| ewen| o |2hen| okek| aks |2Rek| enen| onx
BER R 7 4] 57.1 5 4] 80.0 2 0] 0.0
HARKT 8 4] 50.0 1 0| 0.0 7 4] 57.1
e VA VI NN o o NE 2 6 3| 50.0 4 2| 50.0 2 1| 50.0
AP [EBR R 2 1l 50.0 0 0 0.0 2 1l 50.0
R R 2 1l 50.0 2 1| 50.0 0 0] 0.0
O AR 2 1l 50.0 0 0 0.0 2 1l 50.0
AYA NG 2 1| 50.0 0 0 0.0 2 1| 50.0
PHPH 2 5E R 7 3| 42,9 3 2| 66.7 4 1l 25.0
A ARE B 5 2| 40.0 3 1 333 2 1| 50.0
FALSEF R KT 9 3| 333 4 2| 50.0 5 1l 20.0
B R 6 2| 33.3 2 2| 100.0 4 of 0.0
JIE R 2 R 3 1 33.3 0 0ol 0.0 3 1 333
e NE 3 1] 33.3 1 1| 100.0 2 of 0.0
R R 8 2| 25.0 2 1| 50.0 6 1l 16.7
B TNES 4 1l 25.0 0 0| 0.0 4 1l 25.0
i LRl R 4 1l 25.0 0 0 0.0 4 1l 25.0
PR R 51815 0B 5 1] 20.0 0 0| 0.0 5 1l 20.0
NI S=NE2 2 of 0.0 0 0| 0.0 2 of 0.0
=T VFRER 2 of 0.0 0 0| 0.0 2 0| 0.0
BRI RS 1 0| 0.0 0 0 0.0 1 0] 0.0
FET O T 4T K 1 of 0.0 0 0| 0.0 1 0| 0.0
P B RF 1 0 0.0 0 0ol 0.0 1 0ol 0.0
A& R 1 of 0.0 0 0| 0.0 1 0| 0.0
hieZ3lIPNES 1 of 0.0 0 0 0.0 1 0| 0.0
HORF BT R 1 of 0.0 0 0| 0.0 1 of 0.0
ER N e avNE 1 of 0.0 0 0 0.0 1 0| 0.0
(AEipNES 1 of 0.0 0 0| 0.0 1 of 0.0
(RS Y TNE 1 0| 0.0 0 0] 0.0 1 0 0.0
WL R 1 of 0.0 0 0| 0.0 1 0| 0.0
(39~67k%)
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at 2,221 1,551 69.8] 1,571 1,340 85.3 650 211 32.5




OPRIERR AR R L — b (PRAEERE LR RER TS + R )

(ZBHE10 AL L)
s W
A TaEn] o Es| ot
AR A A B 2R 22 11l 50.0
LR E BRI OB 12 6| 50.0
RBR IR 7 B P AR 28 13| 46.4
KR ASAT AT 4 T VELP 2R 22 8l 36.4
FLIR OOt I B PH A 23 6| 26.1
R R R AR & PR T B P PR AR AR 20 5| 25.0
(1~6£%)
(ZBRFE 10 AR
. W
B ETPe P TS
F-CT7F I ERARB AT PR 1 1| 100.0
A PR A AR Al B P 1 1| 100.0
TA] J P R AR Ik B P A 5 4] 80.0
AR ) AR AR P 2P 9 4 444
KIRANAT 2 0 — B 5 2] 40.0
B R FEEL P PR 6 2 33.3
REAAE SRR P AR 3 1| 33.3
B EAEALCR B R R AL B P AR 3 1| 33.3
[LP IS 7K DK R AR AR 4% 8 2l 25.0
eHFENAT 7)o — B 3 0| 0.0
LRI IS DK T — /3B R AR R 2 of 0.0
AR AL E P A 2 0| 0.0
ITWADER Ba A Ak 5 54 1 0| 0.0
H A AEE0E B A 1 of 0.0
& e P BE R 1 0| 0.0
YICH itz AL B A 1 0 0.0
(1~164%)
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[Hr26) I XA4ERE (BME6FEAR LA DL BMTESHIIA £ T) IZF¥E (BET) LEEXIEE (BT)
THRALOFE, TEE2E] XRTFEE (GF6FE3H31IH) £TICAE (BT) LEETHD,

(ZBR#E10ALLE)
e, =1 = 1

zhows| o] o |2neg|anek| ome |2Rek|anex| ans
A AR A aFZe AT (81E) 112 99[ 88.4] 112 99 88.4 0 of 0.0
R Aol OO R AL i B GBIE) 84 74| 88.1 78 73] 93.6 6 1l 16.7
A A FERT (EE) 119 104| 87.4] 108 98| 90.7 11 6| 54.5
DU ] e e AR AR A BE GER) 39 34| 87.2 38 34| 89.5 1 of 0.0
FURUARSR KRR 3P 208 (81F) 76 66 86.8 70 63[ 90.0 6 3| 50.0
TR ALOR B BP9 AR (GEfR) 29 25| 86.2 23 20 87.0 6 5 83.3
BB KT (@fE) 41 35| 85.4 36 31| 86.1 5 4] 80.0
A AR AT 4 T VAR AR PR 2 GAAE) 151 127 84.1] 137| 120 87.6 14 7| 50.0
F-CT7F AIEFEALF 742 (E1E) 56 471 83.9 48 41| 85.4 8 6] 75.0
A A ALEE H R (E1R) 238 199 83.6] 207| 184 88.9 31 15| 48.4
IR B AR P R (G@AE) 41 34 82.9 38 33| 86.8 3 1l 33.3
FES 2 @AL R  7A% (E1E) 43 35| 8l1.4 37 30| 8l1.1 6 5[ 83.3
TR E AR AL R P e (G@eE) 121 98| 81.0] 108 92| 85.2 13 6| 46.2
TVT 7 EEE AR AL (GE(E) 292 233 79.8] 263 219] 83.3 29 14| 48.3
~ =T EEEALR PR GEAE) 39 31 79.5 38 31| 81.6 1 of 0.0
B R R ST 4L TR AR L (GB1E) 47 371 8.7 40 34[  85.0 7 3 42.9
B SRR ALY Y — AL v IR B GELE) 43 331 76.7 37 31| 83.8 6 2| 33.3
YMC A FEAE HE R 4% (GEeR) 60 46 76.7 47 42| 89.4 13 4] 30.8
OB AER T GE1E) 17 13| 76.5 16 12| 75.0 1 1| 100.0
R R AL & A R P R A S ) 117 89| 76.1 95 81| 85.3 22 8| 36.4
MC LIz [ B A AR — > 59 274 Gl f2) 93 69| 74.2 77 63| 81.8 16 6| 37.5
B ER Em R fE AL E R L oY (E1E) 340 247 72.6] 288 226| 78.5 52 21| 40.4
REARYMCA Rz GAfE) 50 36[  72.0 41 34 82.9 9 2| 22.2
KRB IFO B 2188 (@fE) 178| 122| 68.5] 139 106 76.3 39 16| 41.0
JUPN IR B A% (=) 71 47 66.2 53 37 69.8 18 10| 55.6
FOABEALLR B B PR (E1R) 55 33| 60.0 43 29| 67.4 12 4] 33.3
HARERAS: AR 52— (GEE) 14 1l 7.1 0 of 0.0 14 1l 7.1
(1~27k%)

(ZBRE 10 AAKTH)

A, = 1 = 1

Ziws| o] ows |2nen|anek| ome |2Rek|anex| ams
HE P R 3R A E AL EE I L v (AR 1 1| 100.0 0 of 0.0 1 1| 100.0
B IR A ML P e (B ) 3 2| 66.7 2 2| 100.0 1 of 0.0
YMCAEALR P75 (81E) 2 1l 50.0 0 of 0.0 2 1l 50.0
AR ALE AR GEE) 2 of 0.0 0 of 0.0 2 of 0.0
(1~4F%)

&)

i 2,074 2,018] 78.4] 2,219| 1,865] 84.0 355 153 43.1
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5 RHIABDE, TBEZ] IZR1EE (DF6FE3H3IH) £TIC2HE (BT) LEETHD,

S

CHrze) 1 3A5FE (FMeFE4A 1AL BMTESASIAET) IC8% (BT) LeEXTxE (&

)

(ZBE10ALL L)
-y (o RS RIS

zhek| akek| omr |2ren| anen| ans | 2B ok awnx
M R A kB S e (BT 17 17| 100.0 16 16| 100.0 1 1| 100.0
4 R E R (L) 14 14| 100.0 13 13| 100.0 1 1| 100.0
B R AR AT P A (R ) 10 10| 100.0 10 10| 100.0 0 0| 0.0
KB 2= B (B-f) 27 26| 96.3 26 25|  96.2 1 1| 100.0
A AR AT P A (R 77 72| 93.5 70 68| 97.1 7 4| 57.1
HUND AL R P R (B R) 25 22|  88.0 23 20| 87.0 2 2| 100.0
o A LT P S st (D) 44 38| 86.4 35 34 97.1 9 4] 44.4
AR EERE (BT 14 11| 78.6 13 11| 84.6 1 0 0.0
Abfee O R AR AL P AL (R H) 14 11| 78.6 12 11| 91.7 2 0| 0.0
H AR AT 5 A (1K) 35 27| 77.1 25 24| 96.0 10 31 30.0
R B PR e Ak B PR A3 () 47 36| 76.6 41 35 85.4 6 1l 16.7
B BR ALY Y — A A L D () 10 7(  70.0 7 7( 100.0 3 0| 0.0
A AT M 42 GE1E) 176 122 69.3] 108 94 87.0 68 28 41.2
F+C7F 3 EFRAALE P 0 GEfE) 32 22| 68.8 25 21 84.0 7 1| 14.3
B PG SO ST L AR Lo () 31 21| 67.7 24 19| 79.2 7 2| 28.6
F PR M A (E1E) 98 64| 65.3 70 54| 77.1 28 10{ 35.7
HURUR SR AL B P 2 GRS 49 32 65.3 26 24 92.3 23 8| 34.8
KB EEREIZO BEF 22 GEAE) 105 68| 64.8 71 56 78.9 34 12| 35.3
AR St AL PR s (de=) 93 60[ 64.5 53 45|  84.9 40 15| 375
TVT 7 ERREAL R R GEfE) | 238 146 61.3] 163 125 76.7 75 211 28.0
HORCE BT TE R LB 248 GalE) 47 28]  59.6 35 25 71.4 12 3| 25.0
R B A R P S (D) 14 8| 57.1 9 8] 88.9 5 0| 0.0
HARAT 4 I ABHER P 242 (EAE) 38 21 55.3 18 15| 83.3 20 6| 30.0
B FEEH KT (81F) 38 20[ 52.6 21 15| 71.4 17 5| 29.4
B[ SR IR AL IR L o Y GBS 127 65 51.2 66 46  69.7 61 19| 31.1
VO [ o R AR AR A B (GE1R) 22 11{ 50.0 10 8| 80.0 12 3] 25.0
FO AL R T S M (B 1E) 19 9| 47.4 10 7 70.0 9 2| 22.2
BB ALY Y — A A L VIR B (M) 30 14| 46.7 18 10| 55.6 12 4] 33.3
JUMI RSP A (G 1R) 123 48| 39.0 46 34 73.9 77 14| 18.2
A ARt FHERT (BE) 11 2| 18.2 0 0l 0.0 11 2| 18.2

(1~30#%)




(SZBRE 10 A A

-y L RS RS

zha k| amtk| oms |2Re| anen| ars |2REn| omek| okE
O AL R P A (B ) 6 2| 33.3 0 0l 0.0 6 2| 33.3
UL T2 A R 205 7 1196 S 2 CBLIH) 3 1l 333 0 0| 0.0 3 1| 333
[ BR = ek B P R (13 3 1| 33.3 0 0l 0.0 3 1| 33.3
O E AR AR P R (GeE) 7 2| 28.6 0 0| 0.0 7 2| 28.6
AARZES AL 7R (@fE) 5 0| 0.0 0 0l 0.0 5 0| 0.0
B A LA A - (R (L) 3 0| 0.0 0 0| 0.0 3 0| 0.0
AARERKY: APEEE 22— () 3 0| 0.0 0 0| 0.0 3 0| 0.0
2 AL AR A - (R R () 2 0| 0.0 0 0| 0.0 2 0| 0.0
TR = AR AL R PR e (D) 2 0| 0.0 0 0| 0.0 2 0| 0.0
HORALR B 5P (R ) 2 o 0.0 0 0| 0.0 2 0| 0.0
A S & (R 75 B PR 2 G 1) 1 0| 0.0 0 0| 0.0 1 0| 0.0
KB 2= B (1% ) 1 0| 0.0 0 0l 0.0 1 0 0.0
JUMN & P75 PR A5 (L)) 1 0| 0.0 0 0| 0.0 1 0| 0.0
A ] (= R B P AR (B FT) 1 0| 0.0 0 0l 0.0 1 0| 0.0
DR = P A B PR e (R FRT) 1 0| 0.0 0 0| 0.0 1 0| 0.0
ERNES S TR A v O T 1 0| 0.0 0 0l 0.0 1 0| 0.0
B [ R R AL B A AR (R FRT) 1 0 0.0 0 0l 0.0 1 0 0.0
(1L~ 174%)

(&)
3 1,668| 1,058 63.4| 1,064| 880 82.7] 604 178] 29.5




